o |

1 2 3 4 5 6 7 8 9 " PROJECT NO
JAMB JAMB SILL SILL SILL 503-2
TYPICAL NOTES 3
1. THIS IS A TYPICAL DETAIL SHEET, NOT ALL DETAILS
MAY APPEAR IN PROJECT. D
2. BRACE WALL LATERALLY AS REQUIRED BY DESIGN.
SEE TYPICAL LATERAL BRACING DETAILS. I Te)
3. WHEN ADDITIONAL WALL BLOCKING IS REQUIRED —l <
FOR THE SUPPORT OF ITEMS ATTACHED TO FACE OF ~—
WALL. SEE BACKING DETAILS. <
d—
JAMB, SIZE AND
GAGE AS D—
@Q\ REQUIRED ) @)
S =
O I
+ > (f) O
JAMB, SIZE AND g D: o
GAGE AS REQUIRED— Lol ;
FASTENERS AS REQUIRED SUPE/%'?TE,SELI';; \TNO/ (D =z O
CONCRETE & ’ JAMB, SIZE AND =z <ZE
SCREWS TO JAMB AS GAGE AS
REQUIRED REQUIRED JAMB, SIZE AND Z j —
+ X + JAMB, SIZE AND N g
3 ) GAGE AS REQUIRED o i
TYPICAL TRACK, SIZE N — -
AND GAGE AS SUPPORT CLIP W/ (/)
REQUIRED CAP W/ TRACK PIECE, SIZE AND SCREWS AS SUPPORT CLIP W/ s @)
GAGE AS REQUIRED W/ REQUIRED \ SCREWS AS REQUIRED A -«———TRACK PIECE, SIZE AND ~ O
SCREWS EACH SIDE FOR CLIP SCREWS AS REQUIRED GAGE AS REéUIRED >
CONNECTION TO JAMB AS x - —TRACK PIECE, SIZE AND N
REQUIRED GAGE AS REQUIRED, L
SCREWS TO JAMB AS
. > “—_SCREWS AS REQUIRED — n >
72 B ( — ol
% o X
' SILL, SIZE AND ™\_-STUD PIECE, SIZE D: Ll N
SILL, SIZE AND GAGE AS REQUIRED X AND GAGE AS
GAGE AS REQUIRED —
REQUIRED D E >
|— oz
' ' \SCREWS AS REQUIRED O o
SILL, SIZE AND ) o Ll
GAGE AS REQUIRED—_ < o
I_LLI 0p)
o
I m
00
O M
e o
"\ JAMB STUD BASE CONNECTION \SILL DETAIL \SILL DETAIL O\SILL DETAIL “\SILL DETAIL
SCALE: 3/4'=1"-0" SCALE: 3/4"=1"-0" SCALE: 3/4'=1"-0" SCALE: 3/4"=1"-0" SCALE: 3/4'=1"-0"
SILL JAMB JAMB JAMB JAMB
@ s<
£6 z
s < 20 =3
o 3
% 6 Ar T
iy | | ' !
= O 1 L
=3 + e oy T T o
Z Z Z5 &
| =4 CAP OPENING SIDE OF JAMB W/ 22 - N §
+l T | o TRACK ATTACHED W/(1) #10-16 T + |+ e T .
SN SCREW @ 16"0.C. IN EACH LEG = SeLet A
25 ) MIN T S AR é
z & SPACING % Jef LLe Z-uw
-+ - 5 -0 Ll g Py = - |_|ZJ L
| N MIN. MR AR O o8k
&,JAMB, SIZE AND TOP VIEW SPACING < f@é}'- I a2
3 GAGE AS REQUIRED N, TOP VIEW TOP VIEW O e '%@@s\\ é S
N OP@ + O’°é7\, + @ /, e s <=
\ WALL STUD. SEE WALL SECTION < , \% ATTACH TRACK TO SLAB \% , o) SR i
SUPPORT CLIP W/ N\—_SCREWS AS REQUIRED FOR SIZE AND GAUGE.— AS REQ'D PER DESIGN. &« = 5
SCREWS AS REQUIRED—_
ATTACH TRACK END TO SLAB
1-6" MIN. LON(;LSg%i % FU&LEAHAEELE}RH; ;Q//\_\BS sRTéJg% FUQLE,'\*AEB'SRH;;Q&BSSQSQ% N AS REQ'D PER DESIGN.
SAME SIZE AND ATTACH TRACK TO SLAB PER DESIGN. PER DESIgN
' GAUGE TO MATCH <] AS REQ'D PER DESIGN \TY M
SILL, SIZE AND GAGE ’ —SCREWS AS REQUIRED WALL STUD. _w ————#10-16 SCREWS 1" FROM :
AS REQUIRED (UNPUNCHED) PUNCH MIN. SPACE SCREWS
| STUD PIECE, SIZE AND ¥ 1"o.c. SCREW QUANTITY AS _ (‘9‘/
GAGE AS REQUIRED REQ'D PER DESIGN. §<9 -
(1)#10-16 SCREW (1)#10-16 SCREW > (1)#10-16 SCREW (1)#10-16 SCREW z
@ EACH FLANGE. @ EACH FLANGE. @ EACH FLANGE. @ EACH FLANGE. =
-}
RUNNER TRACK RUNNER TRACK RUNNER TRACK RUNNER TRACK %
v
M
—— CONCRETE SLAB ——CONCRETE SLAB —— CONCRETE SLAB — CONCRETE SLAB 1 @)
(BY OTHERS) ‘ (BY OTHERS) (BY OTHERS) (BY OTHERS) _\_4 O E
¢
al g_ @)
> I Z
o O -
< I =
= © 3
m LN
2 Z zZ 32
O 1 3
O ]
5 = N -
\SILL DETAIL ™\ REINFORCEMENT AT STUD END .\ STUD TO TRACK DETAIL SO\ WINDOW JAMB ANCHORAGE ‘> DOOR JAMB ANCHORAGE an w2 Y
SCALE: 3/4"=1"-0" SCALE: 3/4"=1"-0" SCALE: 3/4"=1"-0" SCALE: 3/4"=1"-0" SCALE: 3/4"=1"-0" > 1 = ICE
5 Ll ~ 0
A O
z =
JAMB BRACING o v Y
et = 0O
—l <E c O
vl e F
wn — U
S zZz =3
O 25
/\ STEEL DECK — u—l-l 9
. . wnyvi o -
(2) JAMB STUDS T T w << wn
(2) JAMB STUDS BACK TO o W
‘)/BACK < < - <
+ ¥ 2
+
¥
+
0 | CAP JAMB WITH 20GA. MIN. TRACK
= FOR WINDOW ATTACHMENT. EXTEND (;p |=— DEEPLEGTRACK z
6" ABOVE HEADER & 4" BELOW SILL K ANCHORED TO STRUCTURE |8
CONNECTIONS g ABOVE (TYP) L“:J o
% =
> =7
J il
¥
-— ATTACH JAMB MEMBERS USING S SELF TAPPING (3) =
+ (2)#10-16 SCREWS @16"0.cC. 2 CLIP FLANGE SCREWS MIN. (TYP) 3
TO FORM SHOE 3
OR + METALSTUDS [ ) @ 48" : %J “
. O.C. STAGGERED (TYP) R
[a)
Y| w
L4 S
ATTACH JAMB MEMBERS USING PARTITION WALLS ———» U = 2
6" SECTION OF RUNNER TRACK,
20 GA. MINIMUM. USE PROJECT NO | 2203-2
* CHECKED BY | Checker
+ / DATE
TYPICAL LIGHT
GAUGE FRAMING
ENLARGED
DETAILS
TYP. NON-LOAD BEARING INTERIOR WALL
DIAGONAL BRACING AT TOP OF WALL DETAIL cne, A indoated
S \TIED JAMB STUDS 1
SCALE: 3/4"=1"-0" SCALE: 3/4"'=1'-0" SHEET NO
1 ‘ 2 3 ‘ 4 5 6 7 8 9 10 1 13 14




	Sheets
	A-552 - TYPICAL LIGHT GAUGE FRAMING ENLARGED DETAILS
	A-553 - TYPICAL LIGHT GAUGE FRAMING ENLARGED DETAILS
	A-554 - TYPICAL LIGHT GAUGE FRAMING ENLARGED DETAILS
	A-555 - TYPICAL LIGHT GAUGE FRAMING ENLARGED DETAILS
	A-621 - DOOR SCHEDULE
	A-622 - DOOR ELEVATIONS, HOLLOW METAL DOORS & WINDOW FRAME ELEVATIONS
	A-623 - HOLLOW METAL DOOR & WINDOW FRAME DETAILS
	A-624 - HOLLOW METAL DOOR FRAME DETAILS
	A-625 - HOLLOW METAL DOOR FRAME DETAILS
	A-651 - FINISH SCHEDULE
	A-652 - FINISH DETAILS AND MATERIAL SCHEDULE
	A-653 - ACOUSTIC PANEL SCHEDULE
	A-940 - COMPOSITE FIRST FLOOR FINISH PLAN
	A-940-A - FIRST FLOOR FINISH PLAN - UNIT A
	A-940-B - FIRST FLOOR FINISH PLAN - UNIT B
	A-940-C - FIRST FLOOR FINISH PLAN - UNIT C
	A-941 - COMPOSITE SECOND FLOOR FINISH PLAN
	A-941-A - SECOND FLOOR FINISH PLAN - UNIT A
	A-941-C - SECOND FLOOR FINISH PLAN - UNIT C
	A-950-A - FIRST FLOOR SIGNAGE PLAN - UNIT A
	A-950-B - FIRST FLOOR SIGNAGE PLAN - UNIT B
	A-950-C - FIRST FLOOR SIGNAGE PLAN - UNIT C
	A-951-A - SECOND FLOOR SIGNAGE PLAN - UNIT A
	A-951-C - SECOND FLOOR SIGNAGE PLAN - UNIT C
	A-952 - SIGN TYPES AND MOUNTING ELEVATIONS
	A-953 - SIGNAGE SCHEDULE
	AF-501 - CASEWORK DETAILS
	AF-502 - CASEWORK DETAILS AND SCHEDULE
	AI-101 - COMPOSITE FIRST FLOOR FURNITURE PLAN
	AI-102 - COMPOSITE SECOND FLOOR FURNITURE PLAN
	AS-111 - ARCHITECTURAL SITE PLAN
	G - 001 - COVER SHEET VOLUME 2 OF 2
	G-001 - COVER SHEET VOLUME 1 OF 2
	G-002 - DRAWING INDEX VOLUME 1 OF 2


